NLNH euler, impact of diffusion to chimney formation
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Fig. 1: No diffusion.
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Fig. 3: Strong diffusion.
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Fig. 2: Weak diffusion.

100

120

mn:

step:

28
24
20
B
16 =
=
2
7]
<
12
8
4
0
-12.826
10. 613
1.00



NLNH euler, impact of reformulated BBC
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Fig. 5: Old BBC without diffusion.
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Fig. 7: New BBC without diffusion.
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Fig. 8: New BBC with diffusion.
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Fig. 6: Old BBC with diffusion.
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NLNH sl3tl, impact of reformulated BBC
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Fig. 9: Old BBC without diffusion.
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Fig. 11: New BBC without diffusion.

Fig. 12: New BBC with diffusion.
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Fig. 10: Old BBC with diffusion.
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NLNH sl2t]l, impact of reformulated BBC
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Fig. 13: Old BBC without diffusion.
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Fig. 15: New BBC without diffusion.
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Fig. 14: Old BBC with diffusion.
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Fig. 16: New BBC with diffusion.



